# IOYNAGAR MOJILPUR MUNICIPALITY SUOTH 24 PARGANAS

### ESTIMATE FOR CONSTRUCTION OF HOSPITAL BUILDING (m.c.w.c)

Si. No.	Description of Work	Quan- tity	Unit	Rate	Amount
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sand stone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, leveling, dressing and ramming the bottom, bailing out water etc. as required complete.				
	Depth of excavation not exceeding 1,500 mm.	146.25	%cu.m.	4187.00	6123.49
2	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete.				0120.10
a)	With earth obtained from excavation of foundation	30	%cu.m.	2600.00	780.00
3	Filling in foundation or Plinth by silver sand in layers not exceeding 150 mm. as directed and consolidating the same by thorough saturation with water, ramming complete including the cost of supply of sand.	84.36	%cu.m.	27050.00	22819.38
4	Supplying and laying Polythene Sheet (150 gm/sq.m.) over damp proof course or below flooring or roof terracing or in foundation trenches	· 170	sq.m.	10.00	
5	Cement concrete with graded stone ballast (40 mm. Size) excluding shuttering. In ground floor 6:3:1 Proportion	20.13			1700.00
6	Ordinary Cement conc.(3:1.5:1) M-20 Cement concrete with gradsed stone chips (20mm size) excluding shuttering and reinforecement, If any. In ground floor. Pakur/Chandil Variety	20.13	cu.m.	3195.45	64324.41
	In ground floor.	77.5	cu.m.	4547.00	352392.50
	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc. including supply of rods, initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in roper position and binding with 16 gauge black annealed wire at every inter-section, complete as per drawing and direction.  For works in foundation, basement and upto roof of ground				
	floor/upto 4 m. Tor steel / Mild steel				
	In ground floor	7.6	МТ	40000.00	304000.00
i) a) iii)	Hire and labour charges for <b>shuttering</b> with centreing and necessary staging upto 4 m. using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams, columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor)  25 mm to 30 mm thick wooden shuttering as per decision & direction of Engineer-in-charge. In Ground floor.	380	sq.m.	160.00	60800.00
a)	Brick work with 1st class bricks in cement mortar ( 6 : 1) In foundation and plinth In superstructure	72.77	cu.m.	3048.00	221802.96

SI. No.	Description of Work	Quan- tity	Unit	Rate	Amount
10	Artificial stone in floor dado, staircases etc. with cement concrete (4:2:10 with stone chips, laid in panels as directed with topping made with ordinary/white dust in proportion (2:1) including smooth finishing and rounding off corners & including application of cement slurry before flooring works, using cement 1.75 %kg/sq.m. all complete including all materials & labour.  Single brick Flat Solling picked Jhama bricks ———and filling joints with powdered earth or-local sand,	1 <b>4</b> 8 182	sq.m	141.00 161.00	20868.00
		- 1			
12	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chiping corners as directed and raking out joints or roughening of concrete surface by chamfering etc. including throating, nosing and drip course where necessary (Ground floor):				
A) a)	In ground floor				
	With 6: 1 sand cement mortar				
11)	15 mm thick plaster	380	sq.m.	80.00	30400.00
iii) B)	20 mm Thick plaster With 4 : 1 sand cement mortar	330	sq.m.	92.00	30360.00
	Steen in the partition of the state of the s			100000000	
ii) 13	10 mm thick plaster  Neat cement punning average 1.5 mm thick in wall, dado, window, sills floor, drain etc.	171	sq.m.	73.00	12483.00
a)	In ground floor	160	sq.m.	19.00	3040.00
14	Collapsible gate with 40 mm X 40 mm X 6 mm tee as top and bottom guide rail 20 mm X 10 mm X 2 mm vertical channel apart in fully streched position 20 mm X 5 mm M.S. flats as collapsible bracings properly rivetted and washered including 38 mm steel rollers including locking arrangements, fitted and fixed in position with lugs set in cement concrete and including cutting necessary holes, chasing etc in walls, floors etc and making good damages complete.				
	in ground floor	6	sq.m	2281.00	13686.00
15	Wood work in door and window frame fitted and fixed complete including a protective coat of painting at the contact surface of the frame.  Sal: Siliguri  M.S. clamp for fixing door and window frame made of flat bent bar, end bifurcated, fixed in cement concrete with stone chips (4:	0.43	cum	47209.80	20300.20
	40 mm X 6 mm above 250 mm upto 350 mm length				
17 a)	Glazed shutters of door, windows, etc as per design fitted	56	each	38.00	2128.00
	with putty bed and teak wood bead and nails including fitting and fixing shutter in position but excluding the cost				
	25mm thick shutter. Sal; siliguri,	24.5	0	2004.00	
8	M. S. integrated girll as per approved desig integrated with steel window or ventilator, joints continuosly welded with M. S. flats and	21.5	Sqm	2231.90	47985.85
	bars.	187	kg.	56.00	10472.00
i)	Two point nose aluminium handle including fitting and fixing				

SI. No.	Description of Work	Quan- tity	Unit	Rate	Amount
19	Painting on timber, plaster or steel or other metal surface		-		
	with synthetic enamel/oil bound primer of approved quality	49	sqm	38.00	1862.00
20	Clour washing with any shade with stainers as required incl				
	ding cleaning and smoothening surface thoroughly:				
	a) two coat other than yellow, pink	881	%Sqm	920.00	8105.00

S. A. E. Joynagar Mozilpur Municipality.

fachailth 26.10.10. Chairperson Joynagar Mozilpur Municipality

State Urban Development Agency, Health Wing, West Bengal the home necessed at letter Jum Chairman, Toyonger - Mosilam, Municipality, regarding dimoning I tund for payment of knotworker / solarly form other conspent the head, In several times ULB, are not in a position to the also call amounts under several heads and the this tot, of the balonce to not cutilized by them and further thereof, but also can not release to them. So, it approved her may white them to utline their worspent balonce for other head. A Snatt letter is enclosed opposition An rignadue, Sulmitted 40\_ P.O (Health) scrpatchi Placed herewith comm- of the Joynagen. Maridper Mpe 84.8.4.00 reducting bor receive of add nos. of Family schedule. he may write to the chalored for esgratme, if abboard. 30522mmi Submitted. On cetor, sion

# State Urban Development Agency, Health Wing, West Bengal

Placed hererith comm. of the Chairman,
Diamond Harborn Mpl. Leaving No. Houth
Care 1A-1771 others 84. 02.06.09

Siconesborry to depute an officer to
porsicipate in the interview board

parsicipate in the interview board

parsicipate in the interview board

parsicipate in the interview board

part selection of 100.

Draft 10th i enclosed for signature,

it approved.

Silvinita.

Digrector, Son

Despatched.

Whim yyou

Placed hereafth comm. of the chairman,
Diamond Harbers Mpl. bearing no street Health

Care 1A-428 | Ditth St. 19.07-10 recently

the enhancement of allotment of fine

purchase of driegs to treat add.

No. of BPL families.

Approved for inchairman addl. No.

Approved for inchairman addl.

Approved for inchairman add

Minector, Swan

Doubaterry.

31812 W

# State Urban Development Agency, Health Wing, West Bengal

Placed horonon comm. of the chairman, Drawon Horbor Mpl. bearing w. JNNURM /A 491/DHM 84. 31-07:10 sugarding reconstruit of Multipupped Helper- Clim Store keeper cum clede under (BPHCS. Doct 1 cotor in enclosed for exgratme, it abbearer.

Director, wor

Despotation.

8 07 -18 10 Min Clo ALZ 3 comm

Placed horsell comm. of the Chairman, Joyneger-Majilpur Mpl Scentrag 20. JMM | HHA 186

dt. 26.07.10, Scelling clarification regarding

entitional of leave in connection with

contracted employees where copples.

325(63) 84. 08.12. 2008 (FW)-3) INPORTED THE chairman to jollow Hordd Leave Rades of Municipal Employees (Rule 24) in case of contracted employees an engaged when CBOACS.

The chairmen in his later has subted Sur Role 1 of model Lune Role 24 of mpl Employee and has snight for clarification.

In this connection, This is to state That Dopt. of
the fin his comm. vide to . 452 (130) | MA |
C-10 | 35-45 | 2007 St. 7-6. 2010 K, has instructed to give a gap of at last I day in between two successive contracted engagement.

Shernited for kind advice.

8 3.08.10

Dincelor, Syon

He have no authority to inme the first. so let us mond the deptity of

## State Urban Development Agency, Health Wing, West Bengal

Director, Svoor to one II. Scey. Dept. of MA.

Director, Svoor to one II. Scey. Dept. of MA.

Director, Svoor to one II. Scey. Dept. of MA.

81375 LB: 10

Despatelia.

Mind 8/0 Dissimina,

Placed herenth comm. of the chairperson,
Jayregar-Mazilper tipe. vide 20. JMM/ CBPHCS | 155(7) &t. 13.07.11 relativey to engagement of 140 Par 178. H. ct or Present tenene of coopers is upto 313.2012 after 13.07.11. as approva by DHFN. Hence, The contract with the stall be made upto 31.3.12 only. He may inform the Chrisperson Draft letter is endrsed for signature, if accerbingly. 87032 2mm abbegra.

Director SUBA

60 (H)

Common me ADHO STATO Mde No. HISTATO BUTOTERY 777 Dr. 18.07.12 is placed herrigh. only, we may resurd the mouth

Dost returns endred for signature, Bys212mm;

NOW

10 mg/1"

Merchan Brown